

1. 
$$\frac{v_1}{R_1} + \frac{v_1 + v_s}{R_2} - \alpha(-v_s - v_3) = 0 \text{ A}$$
$$\alpha(-v_s - v_3) + \frac{v_2 - v_3}{R_3} + i_s = 0 \text{ A}$$
$$\frac{v_3 + v_s}{R_4} + \frac{v_3 - v_2}{R_3} - i_s = 0 \text{ A}$$
2. Answers vary
3. 
$$i_1 = i_s$$
$$v_s - i_2 R_1 + i_1 R_1 - i_2 R_2 + i_3 R_2 = 0 \text{ V}$$
$$-i_3 R_2 + i_2 R_2 - \alpha(i_2 - i_3) - i_3 R_3 = 0 \text{ V}$$
4. 
$$v_{\text{Th}} = \frac{v_s}{1 + \frac{R_1}{R_2} - \alpha R_1}, R_{\text{Th}} = R_1 \parallel R_2 \parallel -\frac{1}{\alpha}$$
5. 
$$p = 6.4 \text{ mW}$$